SIN

gDDMPET/ﬂD/V
IENGINEERING

The Chassis Peop/e

by [T T1%77)

MUSTANG SAFETY LOOP KIT

P/N C3228

PARTS LIST
2 — 180 Degree Loops 1 — Driver Side Bracket
1 — Passenger Side Bracket 8 — 3/8” — 16x1” Bolts
8 — 3/8"-16 Lock Washers 8 — 3/8” — 16 Nuts

8 — 3/8” Flat Washers

NOTE Floor attachment bolts are not supplied due to varying floor thickness.
Use large diameter washers when mounting bolts through floor.

This unit is designed to fit Mustangs from 1979 -93'. It's required by all Major
Racing Organizations.

Installation Instructions

. The mounting loop should be no more than six inches from the front

universal joint.
Secure the brackets by bolting or welding to the floor plan.
Be sure that the 360-degree loop will not interfere with the driveshaft movement

TOOL LIST
Electric Drill 9/16” Wrenches

3/8” Drill Bit 9/16” Socket
Tape Measure or Ruler 3/8” Drive Ratchet

For Technical Assistance, call Competition Engineering's Tech Line at
(203) 458-0542. 8:30am-5:00bm Eastern Time

COMPETITION ENGINEERING
80 Carter Drive « Guilford, CT 06437
PHONE: (203) 453-5200 » Fax: (203) 453-6906

Visit Us At www.competitionengineering.com

Rev A

NR20N2
C3228INST



	COMPETITION ENGINEERING

